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1 fmiEflid

SDL1000X ZRFIBEFRFZFEN LT USB #1 LAN O, AP OLUEIDXLEED, 448 NI-VISA
AN NRRRIES NS HTIZERS, AEENBUNOHNEZEFRESERZEANEE., KL
NEB T I TR,

1.1 RBERERE

1.1.1 {EH VISA HNRIERE
1.1.1.1 &% NI-VISA

EFRREZH, BEEZRE NI-VISA, ZoJPAM NI-VISA Wit T3, XF NI-VISA, AR
MRAISLEAR (Run-Time Engine version) . TEHRAEIE NI EEIRFIZMN— DB A NI MAX BT

B, NI MAX 2— 1M HEFEQO, BFEHiZI8E., SHRALZERNGS, EREE NI REIED
EF.

F70, 4RTTLAM http://Mmww.ni.com/download/ni-visa-5.4/4230/en/ T&; NI-VISA 5.4 ZERR,

EWBILAT# NI-VISA 28 5.4 IREEM BN, HRECENRNERE, ENRERIESTER
ELD

TREXHE, BOUURRBRTENSRETRE:

a. X visa540 full.exe, FHEEMN TEMTR:

¥infip Self-Extractor — wi=sabd0 full... E|

To unzip all filez in vizabd0_full exe to the specified

! Unai
folder prezs the Unzip buttan. =t

Run Windip

IJrzip to folder:
uments DownloadsiMI-A15445.4 Browse. . ] [ Close ]
Dvenwrite files without prompting Ahout

When done unzipping open;
Szetup.exe

Help

b. RHBESR, REAIBREREEXNHEENED . MREHNBNEERE NET

SDL1000X w2 F 1


http://www.ni.com/download/ni-visa-5.4/4230/en/

S SIGLENT R

Framework4, BHZ&EIREHEBNEN.

 RI-VISA 5.4

NI-VISA

National Instruments VISA Software

Exit all applications before running this installer.
Disabling virus scanning applications may improve installation speed.
This program is subject to the accompanying License Agreement(s).

National Instruments Corporation is an authorized distributor of Microsoft Silverlight.

1995-2013 National Instruments. All rights reserved.

W7 NATIONAL
P¥ INSTRUMENTS

Cancel

c. NI-VISA ZEXFEN LEFR, R F—FHRZEIRE.

Destination Directory
Select the primary installation directory.

T NsTRUMENTS

Destination Directoy

Mational Instruments software will be installed in a subfolder of the following. To install into a
differant folder, click the Browse button and select another

C:%Program Files‘FNational Instrumentsh

| [ Browse.. |

<< Back "

Mext >3

¥ Cancel

REBLERRZ, BIAER R C:\Program Files\National Instruments\”,

RET—F, BHN EERIXIEE.

Y RI-VISA 5.4

Features
Select the features to install

TV NSTRUMENTS

2] NIVISA S

=3 =| Run Time Support

=3 -| Corfiguration Support

=3 ~| Development 5 uppart
=3 ~| Remote Server
>_~| Real-Time Suppart
‘indows Mobile/CE Support
3 =| Ml Tnstrument 140 Assistant 2.8.2
= = MI Spstem Configuration 5.5.0
= | Ml Measurement & Automation Explorer 5.5
=3 | MI-1583 Configuration 1.3.0

B

4

< |
Directomny for NS4 5 4

157

National Instruments VIS4 driver version 5.4. VIS4
provides an &P for contralling W1, GPIE. Serial. P<I
and other lypes of instiuments

) oo <5

This feature will be installed on the local hard drive.

C:hProgram Files\IVI FoundationiVISAh

| [ Browse. |

Figstore Feature Defaults | | Disk Cost | |

RTE

] Cancel

BOIKREE,

d. BET—FWR,EIFUIMGHEED  IEFRIES ERRMFIMNUS), RERET—F,
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ERXEEN FEFR:

Y NI-¥ISA 5.4 g|\§|g|

Start Installation

NATIONAL
Fieview the fallowing summary before continuing ymsrmm:m's‘

Adding o1 Changing
< NIVISA 5.4
Fiun Time Support
Configuration Support
Dievelopment Support
Fiemate Server
* MI System Configuration 5.5.0
+ NI Measurement & Autamation Explorer 5.5
+ NI-1588 Corfiguration 1.3.0

Click the Mext button to begin installation. Click the Back button to change the installation settings,

[saveFie. | [ <<Back [ Newws Cancel

i NI-¥ISA 5.4

Installation Complete

NATIONAL
FNSI'III.IMEN'I'S'

Inztallation complete! You might be prompted to rebeot youwr machine

The best way to sxplore the new featurssz iz to uze the VISA Interactive Control to open

seszions to the mew resource types and lock at available operations, events,
attributes

You can use Measurement and Automation Explorer to configure the settings for HI-VISA.

PEREZN, BEHBNENITEN,

1.1.1.2 EEEE

BRIEGHFAFEIESNERES, 8602181T USB T LAN #O5 PC #mEES., AXFEMLL USB

EEEAGF, (AXET LANEOS PCEANINEARE BFSRARFFR. )

a. EHEFAFNEmIREE USB R&EO,FHER USB B4EZBEME USB #A., & PC

NRZZZRENEHNEFT, ESEDNTRRERDER.

b. FR/RETM, REHAT—TFR.
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1.2 HfEnLEiEsEs
1.2.1 AFPEEXERE
BFTILMER SCPI (e HmEMZEHBEFAE, BXMEMAEE, B2SR "HESH" .

1.2.2 @i NI-MAX Bi% SCPI &%

BT LLETE NI-MAX BB AIX SCPI (e LIz iR Fl B F R,
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2 SCPI @&
2.1 ok

SCPI s ARRBIREN, BESNFRESE, ST FREA—TMRXBFEN—IHENRRX
BFHN, FTREUES " AR, XBFZEAES " 2k, XEFERRBEINENSH
RE, BLMBH "= 2F, SPBHN, SHZERES )" #K. SLXITEERNES
"7, RRMILINEEHITEM,

-

fian

:SENSe:FREQuency:CENTer <freg>
:SENSe:FREQuency:CENTer?

SENSe B2@m<MRXHEF, FREQuency 1 CENTer ABIRE R, F=RXEF, TN
52 " Fl, BNEERXBEANT, <freg>RRiiRBHNSE; @S "?" RREH; &
% :SENSe:FREQuency:CENTer f1&#<freq>Z B "“"=#" HFF.

22 ®FSiHEA
THOMFSAZE SCPIZSPHASE, AEGSAE, EREERTHIRBG SIS,
1. =A/FS <>
=RAESTNSHWIAR—EREXRSHR, =AESABRSFERERIEX,

40 : PA:SOURce:BATTery:LEVel 4 BfE &KX [:SOURce]:BATTery:LEVel<value>

A
0o

2. KfES {}
AIESTHESHIRWIER, AFIZEE—SHNZSNER, KIESAEGSERFELRIX,

B50: [:SOURce]:INPut[:STATe] {ON | OFF | 0 | 1}%&J{ON | OFF| 0 | 1},

3. B% |

BEATRRESNSHER, KREGLHUEREP—PSH,

SDL1000X w2 F 5
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$l0: [:SOURce]:INPut[:STATe] {ON | OFF | 0 | 1} ®<%, TEENHLSESHA
“OFF” . IIONII . lloll Eﬁ lllll ; ﬁ%?gé\ﬂun—lz:

:SOURce:INPut:STATe ON & :SOURce:INPut:STATe O

4. BHES (]

BESTHAS (GSXEF) RUEKN., IRERSH, MEEZSHRENRINE.
fian:

X F[:SOURce]:INPuUt[:STATe]?%<, KX THENEHLHBRE—H#H:

!INPut?

!INPut:STATe?
:SOURce:INPut?
:SOURce:INPut:STATe?

2.3 BHHR
AEBNEBUGSPFSNSHAIUSNIUT 6 M2 7/RE . KRB ERES  IERT

RE BEBIE,
1. f/RE

%%&ER{E?‘] HOFFH . HONH . HOII EE lllll . {ﬁupu:

[:SOURce]:SHORI[:STATe] {ON | OFF | 0 | 1}

2. BMEH

SHBEN "V 5 " FRAIENE. i
[:SOURCce]:FUNCtion {CURRent | VOLTage | POWer | RESistance | LED}

2#8 "CURRent” . “VOLTage” . “POWer” . "“RESistance” . “LED" ,

3. I ERER

FEHS P AESHLA<number><step>FRHE AEIER BRI, SHEGRETEATIL

6 SDL1000X 4R7EF
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BESIREHE,

EE: WRERRIMELBEENATRIES,; BEHEN/NGE, NEELE, Fu:
[[SOURce]:LIST:LEVel? <step>

S#<step>T/BYE—IF A EE, ZEX 3.988 BNENER 3

4. FRFERE
EHLPRNEHU<value>RRIENFRE, TJLMERHTRIE,

AR WRERMRNELEENALTRIES, EREABHE, WNEEZERHLE, F)

m:
[:SOURce].CURRent:IRANGe < value >
SH< value >T[ERIFAFRE,

5. RHERIE

SRS ERD, BENFSERRALZX, Hl:
LAN:IPADdress <aaa.bbb.ccc.ddd>
SEAMALL " HITREER, SROBEZFE, SENER, ESHUEHE IR

B, W: BEAXRIP#itA 12.13.14.2 B, HS#H 15.6.01REfF, P kM)A 15.6.0.2,

24 WIHES
FIAEGINRKNEAER, tJZEBAGS, BMBEAEIHNE, LULMERARES, EEW
REFS, WAZTEARNBAGIEAPNAREFSE, FHl:
:SOURCce:CURRent:SLEW:POSitive?
EERSI%

:SOUR:CURR:SLEW:POS?

2.5 455iREE

1. HEREHEREREN, <value> XT 5 B, BRERIREN 30A; NFFT S50, BRERE

SDL1000X w2 F !
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REN 5A,

2. HEIREHEERN, <value> XF 36 B, BEERIREN 150V; NFEFT 36 ¥, BEE
RIREN 36V,

3. EB#HN{<value> | MINimum | MAXimum | DEFault}fJf & B kR th, SETNE NI T:
<value> D ERIREE
MINimum  : IS EEREN&/IME

MAXimum : IREERENRAE
DEFault D g EERENIKINME
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3 DOERS%K

3.1 |EEE 2HS9FES

GRSy W *IDN?

IhREHEA RERFERFNE (ROERAFEE: H, REES, REEAS,
BEIRAS)

Bl *IDN?

01 R25& [2] Siglent\sTechnologies,SDL1020XE,SDL1XEAD2R0005,1.1.1.21R2\n

GRSy *RST

ThaetEIR EfFREREFIRSAHNERE (BIMKRERKANRE)

& B *RST

B *CLS

ThaesAR - BIrESEHSERNESE, BNEZHRYIE

Bl *CLS

RN *ESE < number >

ThaesER - REMESHREST FRNERE

Bl *ESE 16

LB *ESE?

ThREHIAR - EWIRESHRSSERNERE

Bl *ESE?

0] MR 2] - 64

BRI *ESR?

THREHIA : 1818 R B BRI E SRS S FR NS A

Bl *ESR?

0 MR 2] - 0
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I *OPC

IhREHEIA : FERELERE, EMESHRSSERPIRELS bit0 B 1
& fl: *OPC

I *OPC?

IhREHEIA : B YRR IERE M

& f: *OPC?

i) &7 3R [] - 1

W *SRE <number>

TREHEIA : RERSFHHERNERE
Z *SRE 24

B *SRE?

TREHEIA : BEREFHSEROERE
Z *SRE?

VAR 24

g *STB?

ThREHEIAR : ERREFHSERNBMHE
& fl: *STB?

0 MR 2] - 72

B *TST?

TNREHEA : EENRERER

Z *TST?

0 AR [E] - 0

I WA

TREHEIAR - EHFMBERTHRIERKZE, BRTROEMBHS
& fl: WA

10
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3.2 Measure 89F &%

B MEASure:VOLTage[:DC]?

ThaeHR SRENSCHY BB R 218

z MEASure:VOLTage:DC?

0 LR ] - 7.924678

A8 MEASure:CURRent[:DC]?

ThaEIR - SREXNSCBY B8R E1E

B MEASure: CURRent:DC?

0] MR ] - 3.986634

meER: MEASure:POWer[:DC]?

ThaeHR FRENSERY RN E1E

Z MEASure:POWer:DC?

0] B2 iR [E] : 31.867329

[ERE - MEASure:RESistance[:DC]?

ThaedIR - FRERSC B B B 18

ol MEASure: RESistance:DC?

0 MR ] - 5.842789

ETROX W MEASure:EXT?

ThaReHR : SRER (SMERRIEARTN T ) SEESMERE1E

Bl MEASure: EXT?

0] 23R 2] : 3.863521

meE: MEASure:WAVEdata? {CURRent | VOLTage | POWer | RESistance}

. IREEHEEOE/RH (CC/CVICPICR) &R (200 1 float B #iER
F5F)

2 4 MEASure:WAVEdata? VOLTage

0 MR ] - 3.947389, 3.928473, 3.197493, 3.573992...

SDL1000X 4m#z Ff
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3.3 Source BSFES

3.3.1 Source XtHABELFESK

wHER: [:SOURCce]:INPut[:STATe] {ON | OFF | 0| 1}

TREHEIA : REAZNBANRS (FTHHXEA)

% :SOURce:INPut:STATe OFF

moE: [:SOURCce]:INPut[:STATe]?

TREHEIA : BEHAHPBNRE (FTF: 1/ XH: 0)

Z fl: :SOURCce:INPut:STATe?

0 Sz5R 2] - 0

W [:SOURCce]:SHORL[:STATe] {ON | OFF | 0 | 1}

TREHEA : REAHLIERNERIRS (FTHXA)

7 11 :SOURce:SHORt:STATe ON

W [:SOURCce]:SHORI[:STATe]?

ThaeHIR : BiFAHYFER THRERES (3TF: 1/ X@A: 0)

Z 1 :SOURce:SHORt:STATe?

0 SR (] : 1

ETRO% W [:SOURce]:FUNCtion:TRANsient {CURRent | VOLTage | POWer |
RESistance}

TREHEA : REDSRMETHERN (CC/CV/ICPICR)

o fl: :SOURce:FUNCtion: TRANsient VOLTage

BN [:SOURCce]:FUNCtion: TRANsient?

TREHEIA : B FHSREE TR

Bl :SOURCce:FUNCtion: TRANsient?

0 SR B : VOLTAGE

12 SDL1000X 4m72 F it
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WtEI: [:SOURce]:FUNCtion {CURRent | VOLTage | POWer | RESistance | LED}
INReER REFMSRIETHER (CC/CVICP/CR/LED)

) :SOURCce:FUNCtion LED

W [:SOURCce]:FUNCtion?

ThREREIAR - TEEFSRETHER

) :SOURCce:FUNCtion?

08 R IR [E] : RESISTANCE

W [:SOURCce]:FUNCtion:MODE?

TREREIA 8 LR B

) :SOURCce:FUNCtion:MODE?

0 R IR [E] - PROGRAM

WtEI: [:SOURCce]:TEST:STEP?

ThaedIR - #if] (LIST/PROGRAM) ik F5isiTEIHIS#

Bl :SOURce:TEST:STEP?

0 Nz B : 3

R [:SOURCce]:TEST:STOP?

BT EEWKFIHAETHNSHEREL (1: F1E/0: &)
Z :SOURCce:TEST:STOP?

0] Rz 3 5] 1

3.3.2 Source Current ®SFES%

B [:SOURce]:CURRent[:LEVel][:IMMediate] {<value> | MINimum | MAXimum
| DEFault}

ThaeHIR : WEBHSRET CC EXNATERRE

z :SOURCce:CURRent:LEVel:IMMediate 0.845

SDL1000X w2 F
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W [:SOURCce]:CURRent[:LEVel][:IMMediate]?

IhRetEiA : EEESIRET CC BEXNETERE

2 f: :SOURCce:CURRent:LEVel:IMMediate?

0] N AR 2] - 2.674

g [:SOURce]:CURRent:IRANGe <value>

ThaEdIR - REHSERMET CCBEANBRER

) :SOURce:CURRent:IRANGe 10

W [:SOURCce]:CURRent:IRANGe?

TNaeHER : FEESIREET CCEXNBRERETE

= :SOURce:CURRent:IRANGe?

0 AR [E] - 30

moE: [:SOURce]:CURRent:VRANGe <value>

TNaeHER REBFSEBET CCEANBEER

B i : :SOURce:CURRent:VRANGe 65

moE: [:SOURce]:CURRent:VRANGe?

IRetEiA : FWEHSRET CCEXNBEERTE

o :SOURce:CURRent:VRANGe?

0] MR 2] - 36

BN [:SOURce]: CURRent:SLEW[:BOTH] {<value> | MINimum |[MAXimum |
DEFault}

TNResER REFMSRIET CCEANRE (LANKEETEREFLIRE)

B :SOURCce:CURRent:SLEW:BOTH 0.652

8 [:SOURCce]:CURRent:SLEW:POSitive {<value> | MINimum | MAXimum|
DEFault}

aesER REFSERET CCERXN AR

A :SOURCce:CURRent:SLEW:POSitive 0.258

14
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W [:SOURCce]:CURRent:SLEW:POSitive?

ThaeHR TWESRIET CC EXW AR

e £ - :SOURce:CURRent:SLEW:POSitive?

0] MR 2] - 0.498

&I [:SOURce]:CURRent:SLEW:NEGative {<value> | MINimum | MAXimum |
DEFault}

ThaeHR WEHSERET CCREXNTRAE

e £ - :SOURce:CURRent:SLEW: NEGative 1.986

W [:SOURce]:CURRent:SLEW:NEGative?

ThaeHR EWEHSRIET CC ERXWTRAIER

Z 1 :SOURce:CURRent:SLEW: NEGative?

0 MR 2] - 0.187

moE: [:SOURCce]:CURRent:TRANsient:MODE {CONTinuous | PULSe | TOGGle}

ThaesAR - REHMSRMET CC ERAMKETERS

S i : :SOURce:CURRent:TRANsient:MODE PULSe

moE: [:SOURce]:CURRent: TRANsient:MODE?

ThReHR : FHEHBRIET CC EXKFER

B :SOURce:CURRent:TRANsient:MODE?

0] MR 2] - CONTINUOUS

BN [:SOURCce]:CURRent:TRANsient:IRANGe <value>

ThaedIR REHMSRIET CCEANBRER

z f :SOURCce:CURRent:TRANsient:IRANGe 9

BN [:SOURce]:CURRent:TRANsient:IRANGe?

ek FHHMSRIET CCEXNBREZETE

% fl: :SOURce:CURRent: TRANsient:IRANGe?

0] MR 2] - 30

SDL1000X 4m#z Ff
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W [:SOURCce]:CURRent: TRANsient:VRANGe <value>

IhRetEA : RENSERIET CCEXNBESRE

) :SOURce:CURRent:TRANsient:VRANGe 80

g [:SOURce]:CURRent:TRANsient:VRANGe?

IhRetEA : FHHMSRIET CCEXNBEERETE

2 f: :SOURCce:CURRent:TRANsient:VRANGe?

0 MR ] - 150

TR A [:SOURce]:CURRent:TRANSsient:ALEVel {<value> | MINimum | MAXimum |
DEFault}

IResEiA : RENSEET CCEXNAE

Z 1 :SOURce:CURRent:TRANsient:ALEVel 4.653

W [:SOURce]:CURRent: TRANSsient:ALEVel?

TNaeHE : EWHMSRET CCERNAE

2 f: :SOURce:CURRent:TRANsient:ALEVel?

0 MR ] - 6.000

SO [:SOURce]:CURRent:TRANsient:BLEVel {<value> | MINimum | MAXimum |
DEFault}

TNaeHER REMSEET CCEXN B E

2 f: :SOURCce:CURRent:TRANsient:BLEVel 5.000

KR [:SOURce]:CURRent:TRANSsient:BLEVel?

aesER EWHMSRIET CCEXNBE

= :SOURCce:CURRent:TRANsient:BLEVel?

0a] B3R [E] 8.000

8 [:SOURCce]:CURRent: TRANsient: AWIDth {<value> | MINimum | MAXimum |
DEFault}

TNResER REMSEET CC A A BRAKERIEE (“s"HEBAL)

2 f: :SOURCce:CURRent:TRANsient:AWIDth 0.700

16
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WHER: [:SOURCce]:CURRent: TRANSsient: AWIDth?

IhRetEiA : EFWHMHRIET CCERE A BRI EIE (“S"HEBAL)

z5 ) :SOURce:CURRent: TRANsient:AWIDth?

0] MR 2] - 1.000

W [:SOURCce]:CURRent: TRANsient:BWIDth {<value> | MINimum | MAXimum |
DEFault}

IhRetEA : REMSEET CCEXH B EMPKERBEIE (“‘s"HRA)

z5 1 : :SOURce:CURRent:TRANsient:BWIDth 0.800

mE: [:SOURCce]:CURRent: TRANsient:BWIDth?

IRetEiA : FWHKRIET CCERAY B BRI EE (“sS"HEBAL)

Z 1 :SOURce:CURRent:TRANsient:BWIDth?

0 AR ] - 1.500

TR A [:SOURce]:CURRent:TRANSsient:SLEW:POSitive {<value> | MINimum |
MAXimum | DEFault}

aesEk RENSEET CCEXN LEFARR

z il :SOURce:CURRent: TRANsient: SLEW:POSitive 0.400

gt [:SOURce]:CURRent:TRANsient:SLEW:POSitive?

ek EWHSRIET CC ERX LEFRI=R

2z £ : :SOURce:CURRent:TRANsient: SLEW:POSitive?

) Rz 3R 5] 0.600

8 [:SOURce]:CURRent:TRANSsient:SLEW:NEGative {<value> | MINimum |
MAXimum | DEFault}

aesEk REMSEET CCREXNTRAE

2 151 :SOURce:CURRent: TRANsient: SLEW: NEGative 0.300

BN [:SOURCce]:CURRent: TRANsient:SLEW:NEGative?

IgesEiR EFWHBIRIET CC ERXWTRERRI=R

Z LR :SOURce:CURRent:TRANsient;: SLEW: NEGative?

0 MR 2] - 0.900

SDL1000X w2 F
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3.3.3 Source Voltage ML F RS

wER [:SOURCce]:VOLTage[:LEVel][:IMMediate] {<value> | MINimum | MAXimum
| DEFault}

ThaEIR - REHSEET CVEXNATBREE

) :SOURCce:VOLTage:LEVel:IMMediate 3.000

W [:SOURCce]:VOLTage[:LEVel][:IMMediate]?

ThaeHR BRESRET CVEXNATREE

Z 1 :SOURce:VOLTage:LEVel:IMMediate?

0] MR [ - 4.000

W [:SOURce]:VOLTage:IRANGe <value>

ThaeHR REFMSERIET CVEXANBRER

= :SOURce:VOLTage:IRANGe 10

moE: [(SOURCce]:VOLTage:IRANGe?

ThaReHR BFFSRET CVERNERERTE

Z 1 :SOURce:VOLTage:IRANGe?

0] MR ] - 30

KR [:SOURCce]:VOLTage:VRANGe <value>

ThaedIR REFMSRIET CVEREANBEER

z= :SOURCce:VOLTage:VRANGe 60

BN [:SOURce]:VOLTage:VRANGe?

ek BREFSRIET CVEANBEERT

z fl :SOURce:VOLTage:VRANGe?

0 S25R (] 36

BN [:SOURce]:VOLTage: TRANsient:MODE {CONTinuous | PULSe | TOGGlIe}

haeHR REMSEET CVEXEREN

Z 11 :SOURce:VOLTage: TRANsient:MODE TOGGle
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W [:SOURCce]:VOLTage:TRANsient: MODE?

IhRetEA : FWHMHRIET CV EXFNRARR

) :SOURCce:VOLTage:TRANsient:MODE?

0 B3R ] : PULSe

A8 [:SOURCce]:VOLTage:TRANsient:IRANGe <value>

ThaEdIR - REHMSERET CVEXINERER

2 f: :SOURce:VOLTage:TRANsient:IRANGe 5

moE: [:SOURCce]:VOLTage: TRANsient:IRANGe?

TNaeHER : FRMBRET CVERNBRERTE

= :SOURce:VOLTage: TRANsient:IRANGe?

0] MR 2] - 30

W [:SOURce]:VOLTage:TRANsient:VRANGe <value>

TNaeHER : REMSRIET CVEXNBEER

7 1 :SOURCce:VOLTage:TRANsient:VRANGe 36

KR [:SOURce]:VOLTage: TRANsient:VRANGe?

aesEk FHHMSRET CVEEXNBEERTCE

FiS 151 :SOURce:VOLTage: TRANsient:VRANGe?

0] R 3 5] 150

8 [:SOURCce]:VOLTage:TRANsient:ALEVel {<value> | MINimum | MAXimum |
DEFault}

IhaetEiR REMSEET CVERXNAE

Z 151 :SOURce:VOLTage: TRANsient:ALEVel MINimum

BN [:SOURce]:VOLTage: TRANsient:ALEVel?

TNResER EWHSRET CVERXN AE

o fl: :SOURce:VOLTage:TRANsient:ALEVel?

0] MR 2] - 8.000

SDL1000X 4m#z Ff
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W [:SOURCce]:VOLTage:TRANsient:BLEVel {<value> | MINimum | MAXimum |
DEFault}

ThREdIR - REMSRIET CVEXN BE

2 f: :SOURCce:VOLTage: TRANsient:BLEVel MAXimum

A8 [:SOURCce]:VOLTage:TRANsient:BLEVel?

ThaEdIR - HFRHMKRIET CVERN B &

2 f: :SOURce:VOLTage:TRANsient:BLEVel?

g RziR (2] : 10.000

R [:SOURce]:VOLTage: TRANsient:AWIDth {<value> | MINimum | MAXimum |
DEFault}

ThaEHIR - REMSERET CVERXN A BNKENEE (s"HEA)

Z¢ 1 :SOURCce:VOLTage: TRANsient:AWIDth DEFault

moE: [:SOURCce]:VOLTage: TRANsient:AWIDth?

ThaEHIR - FWEHMBRIET CV EXH A EIPKERNEE (“‘s"A8L)

i :SOURCce:VOLTage: TRANsient:AWIDth?

0] MR ] - 2.000

R [:SOURce]:VOLTage: TRANSsient:BWIDth {<value> | MINimum | MAXimum |
DEFault}

ThaedIR - REMSEET CVAERR B ENBKEIEE (“s"HEAL)

Z¢ R :SOURCce:VOLTage: TRANsient:BWIDth 0.800

meE: [:SOURCce]:VOLTage: TRANsient:BWIDth?

ThaReHR EWHMHRET CVER B ERIBKEIEE (“s"HEfI)

= :SOURce:VOLTage:TRANsient:BWIDth?

0 MR ] - 1.500
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3.3.4 Source Power S8 F RS

wER [:SOURCce]:POWer[:LEVel][:IMMediate] {<value> | MINimum | MAXimum |
DEFault}

ThaEIR - WEBSRET CPEXNATINRE

z :SOURce:POWer:LEVel:IMMediate 3.000

g [:SOURce]:POWer[:LEVel][:IMMediate]?

IhRetEiA : FWEHSRET CPEXNATINERE

Z 1 :SOURce:POWer:LEVel:IMMediate?

0 AR ] - 4.000

W [:SOURce]:POWer:IRANGe <value>

IRetEiA : REFHSEET CPEXANBRER

B :SOURCce:POWer:IRANGe 10

moE: [:SOURce]:POWer:IRANGe?

INReHER FWHEHSRET CPEXNERERTCE

% :SOURce:POWer:IRANGe?

0 MR 2] - 30

moE: [:SOURCce]:POWer:VRANGe <value>

TNaeHER REFHSEET CPEANBEER

% :SOURce:POWer:VRANGe 60

mEER [:SOURce]:POWer:VRANGe?

IgesEiR EWEHESRET CPEXNEEERETHE

A :SOURce:POWer:VRANGe?

0 S25R (] 36

BN [:SOURce]:POWer: TRANsient:MODE {CONTinuous | PULSe | TOGGIle}

IgesEiR REMSRET CP ERXEAER

A :SOURce:POWer:TRANsient:MODE TOGGle

SDL1000X 4m#z Ff
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W [:SOURCce]:POWer:TRANsient:MODE?
IhRetEA : FWRHMHRIET CP EXANRIARR

) :SOURce:POWer:TRANsient:MODE?

0 B3R ] : PULSe

A8 [:SOURCce]:POWer:TRANsient:IRANGe <value>
ThaEdIR - REHMSRET CPEXNERER

2 4 :SOURce:POWer:TRANsient:IRANGe 5
moE: [:SOURce]:POWer:TRANsient:IRANGe?
TNaeHER : FRMBRIET CP ERXNBRERTE

% :SOURce:POWer: TRANsient:IRANGe?

0] MR 2] - 30

W [:SOURce]:POWer: TRANsient:VRANGe <value>
TNaeHER : REMSRIET CPEXNBEER

2 f: :SOURce:POWer:TRANsient:VRANGe 36
W [:SOURce]:POWer: TRANsient:VRANGe?
TNaeHER FHHMSRET CPEXNEBEERTCE

S i : :SOURce:POWer:TRANsient:VRANGe?

0 MR 2] - 150

B [:SOURce]:POWer:TRANsient:ALEVel {<value> | MINimum | MAXimum |
DEFault}

ThaEHIR - RENSERET CPEXNAE

z5 1) : :SOURce:POWer:TRANsient:ALEVel MINimum

BN [:SOURce]:POWer:-TRANsient:ALEVel?

ThaeHIR : EEMRET CPELXNAE

% fl: :SOURce:POWer: TRANsient:ALEVel?

0o K7 3R [] : 8.000
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W [:SOURCce]:POWer:TRANSsient:BLEVel {<value> | MINimum | MAXimum |
DEFault}

ThaEdIR - REMSRIET CP XN BE

2 4 :SOURce:POWer:TRANsient:BLEVel MAXimum

WHER: [:SOURCce]:POWer:-TRANsient:BLEVel?

ThaEdIR - HFRHMKRIET CPEXH B &

2 4 :SOURce:POWer:TRANsient:BLEVel?

0] MR [ - 10.000

MR [:SOURce]:POWer: TRANSsient:AWIDth {<value> | MINimum | MAXimum |
DEFault}

ThaeHR REHMSRIET CP RN A BNBKERNEE (“S"HRAL)

% Bl :SOURce:POWer: TRANsient:AWIDth DEFault

moE: [:SOURCce]:POWer:TRANsient:AWIDth?

ThaeHR BRHMKRIET CP EXNA A EHFKEREE (“s"HEBL)

2 :SOURce:POWer:TRANsient:AWIDth?

0] MR ] - 2.000

moE: [:SOURce]:POWer:TRANsient:BWIDth {<value> | MINimum | MAXimum |
DEFault}

IResEiA : REHSRIET CP &EXH B ENBKERNEE (“S"HRAL)

2 :SOURce:POWer:TRANsient:BWIDth 0.800

g [:SOURce]:POWer: TRANSsient:BWIDth?

IgetEiAR : EWHSIRIET CP ERXH B ERIBKEIEE (“s"HEfI)

2 4 :SOURce:POWer:TRANsient:BWIDth?

g RzI& G : 1.500

SDL1000X 4m#z Ff
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3.3.5 Source Resistance & F &%

ot [:SOURCce]:RESistance[:.LEVel]:IMMediate] {<value> | MINimum |
MAXimum | DEFault}

IhRetEiA : REFBSERET CRERXNETBEE

2 4 :SOURCce:RESistance:LEVel:IMMediate 3.000

BN [:SOURCce]:RESistance[:LEVel][:IMMediate]?

TNaeHR : EWESIRET CR EXHETHLIEE

ol :SOURce:RESistance:LEVel:IMMediate?

0 MR 2] - 4.000

mE: [:SOURCce]:RESistance:IRANGe <value>

IRetEiA : REFSEET CREXHNBERER

B :SOURCce:RESistance:IRANGe 10

moE: [:SOURCce]:RESistance:IRANGe?

TNaeHER FWEHSIEET CR EXHNBRERETE

% :SOURce:RESistance:IRANGe?

0 MR 2] - 30

moE: [:SOURCce]:RESistance:VRANGe <value>

IResEiA : REFSEET CREXHNBEER

B :SOURCce:RESistance:VRANGe 60

meE: [:SOURCce]:RESistance:VRANGe?

TNResER EWESIEET CR EEXHNBEERETE

% fl: :SOURce:RESistance:VRANGe?

0 MR 2] - 36

W [:SOURCce]:RESistance:RRANGe {LOW | MIDDLE | HIGH | UPPER}

IgetEiAR : REFHSIEET CREXXHNBEER

B :SOURce:RESistance:RRANGe MIDDLE
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WHER: [:SOURCce]:RESistance:RRANGe?

IhRetEiA : FWEHSRET CREXNNBEEETE

2 4 :SOURce:RESistance:RRANGe?

0 Rz [E] : UPPER

W [:SOURCce]:RESistance:TRANsient:MODE {CONTinuous | PULSe
|TOGGIe}

TNReHR : RENSRET CRBXHEFAER

2 f: :SOURce:RESistance: TRANsient:MODE TOGGle

W [:SOURCce]:RESistance:TRANsient:MODE?

TNaeHER : FHMSRIET CR EXHURFER

ol :SOURce:RESistance: TRANsient:MODE?

0 MR 2] - PULSe

BN [:SOURce]:RESistance: TRANsient:IRANGe <value>

IRetEiA : REMSEET CREXHNBRER

Z 1 :SOURce:RESistance: TRANsient:IRANGe 5

W [:SOURCce]:RESistance:TRANsient:IRANGe?

InReHR : FHHMTRIET CR EXNBRERETE

Z 1 :SOURce:RESistance: TRANsient:IRANGe?

0 MR 2] - 30

meE: [:SOURCce]:RESistance:TRANsient:VRANGe <value>

TNResER RENSEET CREXNBEERE

Z f: :SOURCce:RESistance:TRANsient:VRANGe 36

meE: [:SOURCce]:RESistance:TRANsient:VRANGe?

IgetEiAR : FHHMSRIET CREXNBEERTE

B :SOURCce:RESistance: TRANsient:VRANGe?

0] MR 2] - 150

SDL1000X 4m#z Ff
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W [:SOURCce]:RESistance:TRANsient:RRANGe {LOW | MIDDLE | HIGH |
UPPER}

INgetEiAR : RENSERET CREXNHBESE

z5 ) :SOURCce:RESistance:TRANsient:VRANGe HIGH

WHER: [:SOURCce]:RESistance:TRANsient:RRANGe?

INgetEiAR : FEHMTRIET CR EXNWBEERRETE

z5 ) :SOURCce:RESistance: TRANsient:VRANGe?

0 AR ] - LOW

[ERE - [:SOURCce]:RESistance:TRANsient:ALEVel {<value> | MINimum |
MAXimum | DEFault}

INgesEAR : RENSEET CREXNAE

7 11 :SOURCce:RESistance:TRANsient:ALEVel MINimum

W [:SOURce]:RESistance:TRANsient:ALEVel?

INgesEAR : EFHHMSEET CREXNAE

Z5 ViR :SOURCce:RESistance:TRANsient:ALEVel?

0 MR 2] - 8.000

moE: [:SOURce]:RESistance:TRANsient:BLEVel {< value > | MINimum |
MAXimum | DEFault}

IResEiA : RENSEET CREXN B E

i :‘SOURce:RESistance: TRANsient:BLEVel MAXimum

moE: [:SOURCce]:RESistance:TRANsient:BLEVel?

IgetEiAR : EWHMKTRIET CRERN B E

2 :SOURce:RESistance:TRANsient:BLEVel?

0 AR [E] - 10.000

meE: [:SOURce]:RESistance:TRANsient:AWIDth {<value> | MINimum |
MAXimum | DEFault}

INgesER : REMSEET CREXH A BRAKERIEE (“s"HEBNAL)

Z 1 :SOURCce:RESistance:TRANsient:AWIDth DEFault
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WHER: [:SOURCce]:RESistance:TRANsient:AWIDth?

IhRetEiA : FWHMHRIET CRERE A BREXEIEE (“sS"HEBAL)

z5 ) :SOURCce:RESistance: TRANsient:AWIDth?

0] MR 2] - 2.000

W [:SOURCce]:RESistance:TRANsient:BWIDth {< value > | MINimum |
MAXimum | DEFault}

IhRetEA : REMSEET CREXH B EMPKENBEIE (“‘s"HBRA)

z5 ) :SOURCce:RESistance: TRANsient:BWIDth 0.800

moE: [:SOURCce]:RESistance:TRANsient:BWIDth?

TNaeHEk : FHHNEET CR EXHY B ERKENEE (“s"H8141)

% :SOURce:RESistance: TRANsient:BWIDth?

0 MR 2] - 1.500

3.3.6 Source LED %< FE%

[ERE - [:SOURce]:.LED:IRANGe <value>
ThaeHIAR - REESIRMET LED NERER

& 11 :SOURce:LED:IRANGe 12

KR [:SOURCce]:.LED:IRANGe?

Thge IR EiFFHSIEET LED NERERTE
B :SOURce:LED:IRANGe?

08 R IR [E] : 30

meE: [:SOURCce]:.LED:VRANGe <value>
ThEEHEIAR | WEESIRIET LED WBEER

Z f: :SOURCce:LED:VRANGe 40
meE: [}SOURCce].LED:VRANGe?
ThaeHIAR - EiFFHSIEET LED NEESERTE
o fl: :SOURce:LED:VRANGe?

0 SR (] : 150

SDL1000X w2 F
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BN [[SOURce]:.LED:VOLTage {< value > | MINimum | MAXimum | DEFault}
ThaetR - REFHSRIET LED B98BE Vo

z8 % :SOURce:LED: VOLTage 10

g [:SOURce]:.LED:VOLTage?

ThaetR - EiFFHSIEET LED 8/E Vo

z :SOURce:LED: VOLTage?

0 RZR A - 60.000

moE: [:SOURCce]:.LED:CURRent {< value > | MINimum | MAXimum | DEFault}
TNaeHER : REFHSEIET LED NEJE lo

% :SOURce:LED: CURRent 3

moE: [:SOURCce]:.LED:CURRent?

IRetEiA : EFEFSRIET LED BEBJE lo

z :SOURce:LED: CURRent?

VAR 2.000

[ERE - [:SOURCce]:LED:RCONf {< value > | MINimum | MAXimum | DEFault}
TNaeHER REFSRIET LED £ Reonf

B i : :SOURce:LED: CURRent DEFault

W [:SOURCce]:LED:RCONf?

TNResER FHESRIET LED B9 Reonf

2 4 :SOURce:LED: RCONf?

0o K7 3R [] 0.200

3.3.7 Source Battery Y F RS

g [:SOURce]:BATTery:FUNC
ThEEHEIAR | [ERFIGZ A BATTERY Bt it
2 f: :SOURCce:BATTery:FUNC
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W [:SOURce]:BATTery:FUNC?

ThREHEIAR : EWAHIRE LR ELT BATTERY Bt BEMKER
e £ - :SOURce:BATTery:FUNC?

0 SR (] - 1

A8 [:SOURCce]:BATTery:MODE {CURRent | POWer | RESistance}
THREHEIA : 1’ & BATTERY TH#ER (CC/CP/CR)
= f: :SOURce:BATTery:MODE POWer
moE: [:SOURCce]:BATTery:MODE?

ThRefEAR &8 BATTERY TH#EH

i :SOURce:BATTery:MODE?

0 AR ] - CURRENT

W [:SOURce]:BATTery:IRANGe <value>
ThaEHIR - REYAT BATTERY R E G ERE

2 f: :SOURCce:BATTery:IRANGe 6.000
mEER [:SOURce]:BATTery:IRANGe?

IngeHaR T Y] BATTERY HXHNERERETE
Z 11 :SOURce:BATTery:IRANGe?

0 Nz [E] 30

mSR [:SOURCce]:BATTery:VRANGe <value>
ThaedIR REHH] BATTERY EXHHEER
A :SOURCce:BATTery:IRANGe 22.000
BN [:SOURCce]:BATTery:VRANGe?
TNREHA B4 FT BATTERY RN B EEREE
A :SOURCce:BATTery: VRANGe?

) Rz 3 5] 150

SDL1000X 4m#z Ff
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WHER: [:SOURCce]:BATTery:RRANGe {LOW | MIDDLE | HIGH | UPPER}

THREHIA : REHH] BATTERY B HEER

Z 11 :SOURce:BATTery:IRANGe UPPER

A8 [:SOURCce]:BATTery:RRANGe?

ThaEdIR - EFif|ZH] BATTERY XN EBESRETEE

) :SOURce:BATTery:IRANGe?

0] MR 2] - MIDDLE

W [:SOURce]:BATTery:LEVel <value>

ThRefEIR REZA BATTERY &R THMEBE (CC AMBERE/CR AKBEHEE
| CP AEBINE(E)

2 151 :SOURce:BATTery:LEVel 5.000

B [:SOURCce]:BATTery:LEVel?

IngEHER Eif 2 H] BATTERY X THIKEBE (CC AMEBETRE/ CR AKRBBHEE
| CP AIREBINZEE)

2 f: :SOURce:BATTery:LEVel?

0] MR 2] - 8.000

g [:SOURCce]:BATTery:VOLTage {< value > | MINimum | MAXimum |
DEFault}

INgesEIR REZLE BATTERY &2 THL L MEBBEE

7 151 :SOURce:BATTery:VOLTage 9.000

mEER [:SOURce]:BATTery:VOLTage?

ThREHA EFiE4H] BATTERY B AL LB BEE

2 f: :SOURce:BATTery:VOLTage?

0 MR 2] - 20.000

meE: [:SOURCce]:BATTery:CAPability < value >

IgetEiAR : REHH BATTERY X THLILMEBBEE

= :SOURce:BATTery: CAPability 100.00

30
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W [:SOURCce]:BATTery:CAPability?

ThaeHR EifZH] BATTERY B THIL LB B RE

z :SOURCce:BATTery: CAPability?

Ui Rzi& (2] : 199.000

W [:SOURCce]:BATTery:TIMer {< value > | MINimum | MAXimum | DEFault}
THREHEIA : RE AT BATTERY X AV LB EE

2 f: :SOURce:BATTery:TIMer DEFault

[ERE - [:SOURCce]:BATTery:TIMer?

ThaEIR - Fif) 2/ BATTERY 2 THL LB Y E){E

i :SOURce:BATTery:TIMer?

0] MR [ - 999.0000

meER: [:SOURce]:BATTery:VOLTage:STATe {ON | OFF | 0 | 1}
IResEiA : REMBBEESSIENL LA KRG

Z 1 :SOURce:BATTery:VOLTage:STATe ON

BB [:SOURce]:BATTery:VOLTage:STATe?

ThaedR BN EEESEENL I HIMEYS

Z 151 :SOURce:BATTery:VOLTage:STATe?

0] B3R 2] 0

A8 : [:SOURce]:BATTery:CAPability:STATe {ON | OFF | 0 | 1}
ThReHR REMBBESESTIENLIEHMRM

= :SOURce:BATTery: CAPability:STATe OFF

meE: [:SOURCce]:BATTery:CAPability:STATe?

ThaEHIR - BHNEEBRERTEALRIAMNEYS

B Bl : :SOURce:BATTery: CAPability:STATe?

0 MR 2] - 1

SDL1000X 4m#z Ff
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BN [[SOURce]:BATTery:TIMer:STATe{ON | OFF | 0| 1}
IhRetEA : REM BB R EIERLLEH RTRMY

) :SOURce:BATTery: TIMer:STATe ON

W [:SOURce]:BATTery:TIMer:STATe?

IhRetEA : BRI B IEREIE AL LEHIRTRMY

2 f: :SOURce:BATTery: TIMer:STATe?

0 AR [E] - 1

moE: [:SOURCce]:BATTery:DISCHArg:CAPability?
TNaeHER : IRERER A B M FF e SRR R E (LU"'mAh A1)
i :SOURCce:BATTery:DISCHArg:CAPability?

0] MR 2] - 13

W [:SOURCce]:BATTery:DISCHArg: TIMer?

IRetEiA : SRENE8 it i BB M FFEa /2 B9 ER B B (LA“s" BB )
Z 1 :SOURce:BATTery:DISCHArg: TIMer?

0] MR 2] - 162

mSR [:SOURCce]:BATTery:DCR:TIME1 <value>
ek REBMAENEE 1 (Ls" A8

7 151 :SOURce:BATTery:DCR:TIME1 1

mEER [:SOURCce]:BATTery:DCR:TIME1?

IhaetEiR SREX e85t BRI B IE) 1 (LA“s" A B4 )

B Bl : :SOURce:BATTery:DCR:TIME1?

0 SR B : 1

meE: [:SOURCce]:BATTery:DCR:TIME2 <value>
IgetEiAR : REBMAENIRXEE 2 (Ls"ABAL)

2 f: :SOURce:BATTery:DCR:TIME2 2
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WHER: [:SOURCce]:BATTery:DCR:TIME2?
THREHEA : SREXEEth PO B B iE) 2 (LA“s” 9 88 4ar )
2 f: :SOURce:BATTery:DCR:TIME2?

0 SR (] - 2

wHER: [:SOURCce]:BATTery:DCR:CURR1 <value>
TREHEIA : REBMABENIEER 1 (LA NERAL)
2 f: :SOURce:BATTery:DCR:CURRL1 1
[ERE - [:SOURce]:BATTery:DCR:CURR1?
TREHEIA : FRER RS B BRI 1 (LAA" N8 )
Z 1 :SOURce:BATTery:DCR:CURR1?

0 N IR [E] : 1

W [:SOURCce]:BATTery:DCR:CURR?2 <value>
TREHEA : REBEMAENIKER 2 (LUA"EN)
Z 1 :SOURce:BATTery:DCR:CURR?2 2
B [:SOURCce]:BATTery:DCR:CURR2?
ThaEHIR : SREN et BRI BRI 2 (LAA R ER4L)
B i : :SOURce:BATTery:DCR:CURR2?

0 SR (] : 2

moE: [:SOURCce]:BATTery:DCR:RESuIt?
TREHEIA : IREXEE BRI SR (LL“Q AL
o fl: :SOURce:BATTery:DCR:RESult?

0 SR B : 0.167

3.3.8 Source List BSFERES

BN [:SOURCce]:LIST:MODE {CURRent | VOLTage | POWer | RESistance}
ThaetEIR RE LIST Wi TaEiTER
Z :SOURce:LIST:MODE VOLTage

SDL1000X 4m#z Ff
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W [:SOURCce]:LIST:MODE?

INHEERIAR : FFHF] LIST Wid TizTER

% :SOURCce:LIST:MODE?

I RR E : CURRENT

A8 [:SOURCce]:LIST:IRANGe <value>

TNEERIR REHH LIST M FETERNBRER

# f: :SOURCce:LIST:IRANGe 5

moE: [:SOURCce].LIST:IRANGe?

TNEERIR : FFYF] LIST Wi TierEX B RERTE
= :SOURce:LIST:IRANGe?

0 N IR [E] : 30

W [:SOURCce]:LIST:VRANGe <value>

TNEERIR WEYHET LIST Ui TR N B EER

= SOURCce:LIST:VRANGe 150

W [:SOURCce]:LIST:VRANGe?

TNHEERIR : T HE LIST MiX FETEANBEERTH
= :SOURce:LIST:VRANGe?

0 Bz 2] : 36

W [:SOURCce]:LIST:RRANGe {LOW | MIDDLE | HIGH |[UPPER}
INHEEHIR WEYHAT LIST Wik e B EERE

= SOURce:LIST:RRANGe HIGH

wmeE: [:SOURce]:.LIST:RRANGe?

INHEEHIR FWHFT LIST Wi FiETEA B HERTHE
= :SOURce:LIST:RRANGe?

0 MR [E] : UPPER
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5 SIGLENT " 5B

WHER: [:SOURCce]:LIST:COUNt {< number > | MINimum | MAXimum | DEFault}

ThREREA - REZHH LIST Wi TETER BB RRITIREL

% :SOURce:LIST:COUNI 10

A8 [:SOURCce]:LIST:COUNt?

TREREIAR W LET LIST MK T TR BT IRE

) :SOURCce:LIST:COUNt?

0 Rz [E] : 255

AR [:SOURCce]:LIST:STEP {< number > | MINimum | MAXimum | DEFault}

TREREIA RELHE LIST Wi T TRANERHITESH

% f: :SOURCce:LIST: STEP 5

W [:SOURCce]:LIST:STEP?

ThREREIAR - FiEHFT LIST WX FETERNE TS

Z :SOURCce:LIST:STEP?

0 Sz5R ] - 15

B [:SOURCce]:LIST:LEVel <step,value>

N RE LIST FoIERTE step AR EE (CC ABRIE/CV NBEE/CP A
IWZ{E / CR HHRIE)

% f :SOURCce:LIST:LEVel 3,4.500

RS g [:SOURCce]:LIST:LEVel? <step>

BT &) LIST FRHlIERDEE step HHIREE (CC ABRIE/CV REEE/CP A
{8 / CR NEEEIE)

Z f: [:SOURce]:LIST:LEVel? 5

0 SR B : 2.000

meE: [:SOURCce]:.LIST:SLEW[:BOTH] <step,value>

THREHEA : RE LIST BHIERDE step HHHZE (CC TAER)

Z :SOURCce:LIST:SLEW:BOTH 4,0.500

SDL1000X 4m#z Ff
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5 SIGLENT " r8

WHER: [:SOURCe]:LIST:SLEW[:BOTH]? <step>
ThREREA - & LIST FHIEDE step HFHIREK (CC TAN)
% :SOURCe:LIST:SLEW:BOTH? 5

0 AR [E] - 0.100

wHER: [:SOURCce]:LIST:WIDth <step,value>
TREREIAR - %8 LIST BHIERDE step HHIFLLETIE
% :SOURCce:LIST:WIDth 3,1.000
W [:SOURCce]:LIST:WIDth? <step>
TREREIA Eif) LIST FHIRPE step HHIFFLEE
Z :SOURCce:LIST:WIDth? 5

0 Sz5R [ - 0.100

W [:SOURCce]:LIST:STATe:ON

ThREREIAR - FEREFIREHA LIST MitER

7 1 :SOURCce:LIST:STATe:ON

B [:SOURCce].LIST:STATe?

TREHEIA : E\AHIRELFESTE LIST MidiE
ol :SOURCce:LIST:STATe?

0 Rz 2] : 1

3.3.9 Source OCPT®<YF &S

meE: [:SOURce]: OCP:FUNC

THREHEAR : EREFHIZEHN OCPT IDREIPMIEAER
. f :SOURCce: OCP:FUNC

[ERSE i p [:SOURce]: OCP:FUNC?

THREHEA :

EWAHRELIAEELT OCPT FRFEFMiHE

i

:SOURCce: OCP:FUNC?

0o K7 3R [] :

0
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5 SIGLENT " 5B

W [:SOURCce]:OCP:IRANGe <value>
INEEHIA : RE OCPT ERX THHBRRER

z& ) :SOURce:OCP:IRANGe 30
R [:SOURCce]:OCP:IRANGe?
INEEHIA : &) OCPT B THEREIZTHE
z& ) :SOURce:OCP:IRANGe?

0 NzIR [E] : 5

moE: [:SOURCce]:OCP:VRANGe <value>
IngeHR : RE OCPT EX THHREER

= :SOURce:OCP:VRANGe 36
moE: [:SOURCce]:OCP:VRANGe?
INEEHIA : &Eif) OCPT B THERE=EZCHE
z& 1) : :SOURce:OCP:VRANGe?

0 Mz [E] : 150

R [:SOURCce]:OCP:STARt {< value > | MINimum | MAXimum | DEFault}
INEEHIAR RE OCPT =X THIWItREBIR{E
2 :SOURCce:OCP:STARt 1.000
mEER [:SOURCce]:OCP:STARt?
INREEHIR : &Eif) OCPT B THWIIAERIE
= fl: :SOURCce:OCP:STARt?

0 MR [E] : 1.000

IR [:SOURCce]:OCP:STEP {< value > | MINimum | MAXimum | DEFault}
INgEHIR RE OCPT X TR L HIEE
=R :SOURce:OCP: STEP 0.500

SDL1000X 4m#z Ff
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5 SIGLENT " r8

W [:SOURCce]:OCP:STEP?

IhEEHIAR : i) OCPT XA THHRLHILE

Z 11 : :SOURce:OCP: STEP?

0 SR (2] : 1.000

CECE [:SOURCce]:OCP:STEP:DELay {< value > | MINimum | MAXimum | DEFault}
ThEEHIA - 1% E OCPT &3 T HFEIR BV 8]

2 f: :SOURCce:OCP:STEP:DELay 1.000

[ERE - [:SOURCce]:OCP:STEP:DELay?

ThEEHIA - &if) OCPT X THIL MR AT &)

i :SOURce:OCP:STEP:DELay?

0 Nz [E] : 2.000

meER: [:SOURCce]:OCP:END {< value > | MINimum | MAXimum | DEFault}
IhEEHEIAR - ®E OCPT XX THLILBRE

% fl: :SOURce:OCP: END 5.000

W [:SOURce]:OCP:END?

ThEEHIAR - &if) OCPT X THIL LLBIRE

& 151 : :SOURce:OCP: END?

0 SR (] : 4.000

meE: [:SOURCce]:OCP:MIN {< value > | MINimum | MAXimum | DEFault}
ThEEHEIAR | 1% E OCPT &3 TR TIRFIBTHE

= :SOURce:OCP: MIN 2.000

meE: [:SOURCce]:OCP:MIN?

IhEEHIAR - i) OCPT X THIER T IR FI BT E

Z f: :SOURCce:OCP: MIN?

0 Rz [B] : 3.000
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5 SIGLENT " 5B

WHER: [:SOURCce]:OCP:MAX {< value > | MINimum | MAXimum | DEFault}
THREHEA : 1% & OCPT X THI R _LIRFIRTE

% :SOURce:OCP: MAX 10.000

A8 [:SOURCce]:OCP:MAX?

TREHEIA : &1 OCPT & AR LR BT {E

2 f: :SOURce:OCP: MAX?

0/t) AR 2] - 8.000

W [:SOURce]:OCP:VOLTage {< value > | MINimum | MAXimum | DEFault}
TREHEIA : RE OCPT R THRIPEEE

Z 1 :SOURce:OCP: VOLTage 8.000

W [:SOURCce]:OCP:VOLTage?

TREHEA : &6 OCPT X THRIFEEE

= :SOURce:OCP: VOLTage?

0 Sz5R ] - 10.000

3.3.10 Source OPPT & F &%

moE: [:SOURce]: OPP:FUNC

TREHEAR FERFIRLFHA OPP T HIREPMiXER

= :SOURCce: OPP:FUNC

R [:SOURCce]: OPP:FUNC?

aesER EWRAFRFIFEELT OPP T IINHRFFMHER
Z 151 :SOURce: OPP:FUNC?

0 Nz [E] 1

mEER [:SOURCce]:OPP:IRANGe <value>

aesER RE OPPT B THIEBRERE

e 151 :SOURce:OPP:IRANGe 30

SDL1000X 4m#z Ff
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5 SIGLENT " r8

W [:SOURCce]:OPP:IRANGe?
ThaeHR &if) OPPT X THERRERTE
z :SOURce:OPP:IRANGe?

0 SR [E] : 5

g [:SOURce]:OPP:VRANGe <value>
ThREHER RE OPPT BX THHREER

= :SOURCce:OPP:VRANGe 36
W [:SOURce]:OPP:VRANGe?
ThaEHIR - &if) OPPT R THIBEERTE
= :SOURce:OPP:VRANGe?

0 A& [E] : 150

moE: [:SOURCce]:OPP:STARt {< value > | MINimum | MAXimum | DEFault}
THREHEAR : RE OPPT B TH#IIATH R E

ol :SOURCce:OPP:STARt 1.000

W [:SOURCce]:OPP:STARt?

THREHEAR : &1 OPPT B FHIMI AT R E

ol :SOURCce:OPP:STARt?

0 A& [E] : 1.000

B [:SOURCce]:OPP:STEP {< value > | MINimum | MAXimum | DEFault}
ThaeHIAR - RE OPPT X FHITN L HILE

# fl: :SOURce:OPP: STEP 0.500

g [:SOURce]:OPP:STEP?

ThaeHIAR - &if] OPPT 2 THINRSHIZE

2 f: :SOURCce:OPP: STEP?

0 RzK ] : 1.000

40 SDL1000X 4m72 F it



5 SIGLENT " 5B

WtEI: [:SOURce]:OPP:STEP:DELay {< value > | MINimum | MAXimum | DEFault}
IhRetEA : RE OPPT &2 T A HFEIR B[]

) :SOURCce:OPP:STEP:DELay 1.000

g [:SOURce]:OPP:STEP:DELay?

IhRetEA : &if) OPPT & THIL HIEIR BT [E)

2 f: :SOURce:OPP:STEP:DELay?

0] MR 2] - 2.000

moE: [:SOURCce]:OPP:END {< value > | MINimum | MAXimum | DEFault}
TNaeHER : RE OPPT & THRIETIR(E

% :SOURce:OPP: END 5.000

moE: [:SOURCce]:OPP:END?

IRetEiA : &if) OPPT B THIL LT R(E

4 :SOURCce:OPP: END?

0 AR ] - 4.000

WER [:SOURCce]:OPP:MIN {< value > | MINimum | MAXimum | DEFault}
ek RE OPPT &R THINXR TR M {E

2 4 :SOURce:OPP: MIN 2.000

R [:SOURce]:OPP:MIN?

IngeEIR &if) OPPT & THITNE T IR¥IMTE

=~ :SOURCce:OPP: MIN?

0 MR 2] - 3.000

meE: [:SOURCce]:OPP:MAX {< value > | MINimum | MAXimum | DEFault}
IgetEiAR : RE OPPT &R FHITNEE LR #i{E

% fl: :SOURce:OPP: MAX 10.000

SDL1000X 4m#z Ff
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5 SIGLENT " r8

W [:SOURCce]:OPP:MAX?
TNREHEA : &6 OPPT X FHIINER LIRFIBT{E

0 :SOURCce:OPP: MAX?

0 R ] : 8.000

g [:SOURCce]:OPP:VOLTage {< value > | MINimum | MAXimum | DEFault}
ThREHIA : 1RE OPPT B THRIFEBEE

) :SOURce:OPP: VOLTage 8.000

W [:SOURCce]:OPP:VOLTage?

ThREHIA : &if) OPPT B THRIFBEE

) :SOURce:OPP: VOLTage?

0 MR 2] - 10.000

3.3.11 Source Program Y F &%

A8 [:SOURce]:PROGram:STEP {< number > | MINimum | MAXimum |
DEFault}

TREHEIA : R EHHT PROGRAM M ER TH RSB E

ol :SOURce:PROGram:STEP 8

[ERE - [:SOURce]:PROGram:STEP?

ThREHEAR Fif) X5 PROGRAM MEER TH 5B

= :SOURce:PROGram:STEP?

0] B3R [E] 10

WM [:SOURce]:PROGram:MODE <step, {CURRent | VOLTage | POWer |

RESistance | LED}>

THREHEA :

188 PROGRAM M FFIERE step HHIED

i

:SOURce:PROGram:MODE 2,VOLTage
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5 SIGLENT " 5B

W [:SOURce]:PROGram:MODE? <step>
THREHEA : &if) PROGRAM WIX TFIERE step ZHIER
Z 1 :SOURce:PROGram:MODE? 3
0 B3R [E] : LED
g [:SOURce]:PROGram:IRANGe <step, value>
ThEEHEIAR - 1RE PROGRAM MK 5K step FHIBRERE
Z 1 :SOURce:PROGram:IRANGe 4,5
mE: [:SOURce]:PROGram:IRANGe? <step>
ThaeHIAR : &if) PROGRAM I TFIERE step FHHERERTCE
Z fl: :SOURce:PROGram:IRANGe? 5
0 AR [E] - 30
moE: [:SOURce]:PROGram:VRANGe <step, value>
INgesEiAR : X E PROGRAM ML THIXRE step THBEERE
S R :SOURce:PROGram:IRANGe 3,36
[ERE - [:SOURce]:PROGram:VRANGe? <step>
INgetEIAR : &if) PROGRAM MIH TFIERE step FHIBEERTE
7 1 :SOURce:PROGram:IRANGe? 2
0 Sz5R ] - 150
[ERSZi-pa [:SOURce]:PROGram:RRANGe <step, {LOW | MIDDLE | HIGH | UPPER}>

e RE PROGRAM i FHIEE step HHIBHEER (kF R CREXNE
InREHEAR N

)

z& il :SOURce:PROGram: RRANGe 3,LOW
mEER [:SOURce]:PROGram:RRANGe? <step>
A &if) PROGRAM X T3R5 step FHEEERTE (LF A CREZE

ReTH I N

B

Z 1 :SOURce:PROGram: RRANGe? 3
0 SR ] - MIDDLE

SDL1000X w2 F

43



(5 SIGLENT" fF0

Rt [:SOURce]:PROGram:SHORt <step, {ON | OFF |0 | 1 }>

THREHIA : IRE PROGRAM X T5I&RE step FREEH

e £ - :SOURce:PROGram: SHORt 3,0N

g [:SOURce]:PROGram:SHORt? <step>

THREHIA : &1 PROGRAM MIiX T5I&REE step FREEH

e £ - :SOURce:PROGram: SHORt? 4

0 AR [E] - 0

mER: [:SOURce]:PROGram:PAUSE <step, {ON |OFF |0 | 1}>

INREHIA : %8 PROGRAM X FFIEE step SHIABI 2T E=

% :SOURce:PROGram: PAUSE 2,1

mER: [:SOURce]:PROGram:PAUSE? <step>

ThREHEIAR : &1 PROGRAM M T5IRE step HSHIARI R S EIZ

Z 1 :SOURce:PROGram: PAUSE? 5

0 AR ] - 0

WtEI: [:SOURce]:PROGram:TIME:ON <step, {< value > | MINimum | MAXimum |
DEFault}>

TREHEIA : 1% & PROGRAM X T2IEE step HHITHEEE (LL“s"AHEAL)

Z 1 :SOURce:PROGram:TIME:ON 4,1.000

B [:SOURce]:PROGram:TIME:ON? <step>

THREHEIA : &if) PROGRAM UK FFIERE step HHITHEETIE (LAs" HEAL)

2 f: :SOURce:PROGram:TIME:ON? 5

0 MR 2] - 0.500

wtEI: [:SOURce]:PROGram: TIME:OFF <step, {< value > | MINimum | MAXimum |
DEFault}>

THREHEA : 1% E PROGRAM X TFIRE step SHIXFETE (LA“s" HEAL)

e 11 : :SOURce:PROGram:TIME:OFF 4,0.500
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5 SIGLENT " F8

W [:SOURce]:PROGram:TIME:OFF? <step>

ThREHIA : Eif) PROGRAM JUIX TFIXRE step HHIXEFETIE (LLs"ARML)

z :SOURce:PROGram:TIME:OFF? 6

0 Rz ] : 2.000

i AR [:SOURce]:PROGram:TIME:DELay <step, {< value > | MINimum |
MAXimum | DEFault}>

ThREHIR IRE PROGRAM MK TFIRE step SHIRESIE (LLU's" AR, FUNFH
i EYIE )

%8 1 :SOURce:PROGram:TIME: DELay 3,0.500

B [:SOURce]:PROGram:TIME:DELay? <step>

haesk &if) PROGRAM MK TFIRE step ZHFERETE (LAs" AR, FUNFH
ZEiE)

z& 1) : :SOURce:PROGram:TIME: DELay? 1

0 Rz 3 ] 0.600

i SiE: [:SOURce]:PROGram:MIN <step, {< value > | MINimum | MAXimum |
DEFault}>

TNk IRE PROGRAM i TFI% S step FHR/NERFEE (CVEXNAR/NE
i, CCICP/CR/ILED XX T AR/NBIE)

z8 151) :SOURce:PROGram:MIN 3,1.000

B [:SOURce]:PROGram:MIN? <step>

RefEk &if) PROGRAM MIX T FIER S step FHIR/NEEHIRE (CVRAAR/NE
i, CCICP/CR/LED #XX TAHR/NBE)

i :SOURce:PROGram:MIN? 5

g RzI& (G : 2.000

A8 [:SOURce]:PROGram:MAX <step, {< value > | MINimum | MAXimum |
DEFault}>

ThaedIR 1RE PROGRAM X TFIERE step FHRAGRFIEE (CVEXARKE
i, CCICP/CR/LED #I{ T AR KHEE)

z8 181) :SOURce:PROGram: MAX 2,10.000

SDL1000X 4m#z Ff
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5 SIGLENT " r8

T [:SOURce]:PROGram:MAX? <step>

aeHk &if) PROGRAM I THIERE step SHIRAEKFEE (CVEXARKE
i, CCICP/CR/LED X TARAEE)

i :SOURce:PROGram:MAX? 3

0 MR ] - 15.000

W [:SOURCce]:PROGram:LEVel <step, {< value > | MINimum | MAXimum |
DEFault}>

THREHEIA : IRE PROGRAM MK TFI&RE step HHITHI{E 1

£ :SOURce:PROGram:LEVel 6,7.000

[ERE - [:SOURCce]:PROGram:LEVel? <step>

ThaEHIR - &if) PROGRAM MiX 5K step ZHIHR{E 1

£ :SOURce:PROGram:LEVel? 2

0] MR ] - 6.000

W [:SOURce]:PROGram:LED:CURRent <step, {< value > | MINimum |
MAXimum | DEFault}>

RefEk RE PROGRAM MIX TFIRE step FHHHIE 2 (LED BRATHK,
lo)

4l :SOURce:PROGram: LED:CURRent 6,7.000

KR [:SOURce]:PROGram:LED:CURRent? <step>

ThaedIR &6 PROGRAM MK TFIERE step HHIFHIE 2 (LED B TER, B
lo)

z8 181) :SOURce:PROGram: LED:CURRent? 4

0fe] Mz 5K 2] 1.000

CERSgi-E [:SOURCce]:PROGram:LED:RCONf <step, {< value > | MINimum |
MAXimum | DEFault}>

IhRgiR iRE PROGRAM Ui FHILRE step FHHHME 3 (LED BXTHE, B
Rconf)

ErS !l :SOURce:PROGram: LED: RCOnf 6,0.300
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5 SIGLENT " 5B

W [:SOURCce]:PROGram:LED:RCONf? <step>

ThaEIR - 1% E PROGRAM IiX T5IEE step HMHH(E 3 (LED X THER, B
Rconf)

2 f: :SOURce:PROGram: LED: RCOnf? 5

0] MR 2] - 0.200

B [:SOURce]:PROGram:STATe:ON

IhRetEiA : FERHIEEHAN PROGRAM M ER

B :SOURce:PROGram:STATe:ON

moE: [:SOURce]:PROGram:STATe?

IRetEiA : BRAFHIRFIAE SN PROGRAM Mlif&E

B :SOURce:PROGram:STATe?

0 AR ] - 0

W [:SOURce]:PROGram:TEST? <step>

IRetEiA : &if) PROGRAM UK FFHIT/EE step LHILR

Z 1 :SOURce:PROGram:TEST? 3

0t MR ] : 3.584720

3.3.12 Source Wave @& F &%

W [:SOURce]:WAVE:TIME < number >
IhREHEA : REBEEREAKREE (L“s"HRA)
i :SOURce:WAVE:TIME 8

R [:SOURCce]:WAVE:TIME?

TNResER BHBBEREORFEE (Ls"A84L)
Bl :SOURCce:WAVE:TIME?

0 MR 2] - 3600

SDL1000X 4m#z Ff
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5 SIGLENT " r8

WtEI: [:SOURce]:WAVE:MODE {CURRent | VOLTage | POWer | RESistance }
ThEeHIAR - REBBERENELERNEERS

2 f: [:SOURce]:WAVE:MODE CURRent
g [:SOURce]:WAVE:MODE?

ThEEHEIAR - EHBAERINEEETNEERS

% f: :SOURce]:WAVE:MODE?

00 AR ] : VOLTAGE

[ERE - [:SOURCce]:WAVE:PAUSE {ON | OFF | 0 | 1}
ThaeHEIAR - REBRERADERNELRTERE
i :SOURce:WAVE:PAUSE ON

R [:SOURCce]:WAVE:PAUSE?

ThaeHEIAR - EHBARREERNEREREEE

7 11 : :SOURce:WAVE:PAUSE?

0 AR (] : 1

[ERE - [:SOURce]:WAVE:DISPlay {ON|OFF|0|1}
ThaeHIAR - FERFIRFENERRAHANEBE R 2R
Z 1 :SOURce:WAVE:DISPlay ON

[ERSZi-pa [:SOURce]:WAVE:DISPlay?

EWRANRESIEEEESERY ERAE

i

:SOURce:WAVE:DISPlay?

0o K7 3R []

ON

3.3.13 Source Utility S F R %

meE: [}SOURCce]:VOLTage[:LEVel]:ON <value>
IgetEiAR : REAFIREHHBEE
2 f: :SOURce:VOLTage:LEVel:ON 6.000
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5 SIGLENT " F8

g [:SOURce]:VOLTage[:LEVel]:ON?

IhRetEA : BHRAHIREFHBEE

e £ - :SOURce:VOLTage:LEVel:ON?

0] MR 2] - 4.000

A8 [:SOURCce]:VOLTage:LATCh[:STATe] {ON | OFF | 0 | 1}
ThaEdIR - REARRETHRSBERARS

2 4 :SOURce:VOLTage:LATCh:STATe OFF
moE: [(SOURCce]:VOLTage:LATCh[:STATe]?

ThaEHIR : FFRAHRETHRSPERFRS

i :SOURCce:VOLTage:LATCh:STATe?

0 Nz [E] : 0

B [:SOURCce]:EXT:INPUT[:StATe] {ON | OFF | 0 | 1}
ThaEHIR - RERARIREFERINEZFIF RS

2 f: :SOURce: EXT:INPUT:STATe OFF

[ERE - [:SOURCce]: EXT:INPUT [:STATe]?

ThaedAR : Eif) A HIRE R ERIMEBZEEIF RS

S R :SOURce: EXT:INPUT:STATe?

0 SR (] : 0

wER: [:SOURCce]:CURRent:PROTection:STATe {ON | OFF | 0 | 1}
ThReHR REZBITHERERIPFX

2 f: :SOURce:CURRent:PROTection:STATe ON
meE: [:SOURce]:CURRent:PROTection:STATe?
ThReHR BHER ST ARRFRIFPFX

2 f: :SOURce:CURRent:PROTection:STATe?

0 SR (] : 1

SDL1000X 4m#z Ff
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5 SIGLENT " r8

W [:SOURCce]:CURRent:PROTection:LEVel {< value > | MINimum | MAXimum
| DEFault}

TNReHR : REBRERIPIIRE (BREFPHTHEER)

2 4 :SOURce:CURRent:PROTection:LEVel 7.00

A8 [:SOURCce]:CURRent:PROTection:LEVel?

TNReHR : B BERFRIPIIRE

2 4 :SOURce:CURRent:PROTection:LEVel?

0 MR ] : 8.000

[ERE - [:SOURce]:CURRent:PROTection:DELay {< value > | MINimum |
MAXimum | DEFault}

TNaeHER : R E BRI R BY BE

i :SOURce:CURRent:PROTection:DELay 2.00

moE: [:SOURCce]:CURRent:PROTection:DELay?

TNaeHER : B BRI TR EE

i :SOURCce:CURRent:PROTection:DELay?

0] MR 2] - 3.000

R [:SOURce]:POWer:PROTection:STATe {ON | OFF | 0 | 1}

ek RERBITHNERRIPFX

2 4 :SOURce:POWer:PROTection:STATe ON

KR [:SOURce]:POWer:PROTection:STATe?

IhaetEiR BHRBITHNERRIPFX

#= Al :SOURce:POWer:PROTection:STATe?

0] Rz 3 5] 1

8 [:SOURce]:POWer:PROTection:LEVel {< value > | MINimum | MAXimum |
DEFault}

TNResER RENEFRIFIIRE (NERFRIPTHEER)

% fl: :SOURce:POWer:PROTection:LEVel 7.00
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5 SIGLENT " F8

W [:SOURce]:POWer:PROTection:LEVel?

IhRetEA : BRNREFIFIIRE

) :SOURce:POWer:PROTection:LEVel?

0 SR (] : 8.000

i &R [:SOURce]:POWer:PROTection:DELay {< value > | MINimum | MAXimum |
DEFault}

TNReHR : IRE RPN BY &

2 f: :SOURce:POWer:PROTection:DELay 2.00

[ERE - [:SOURCce]:POWer:PROTection:DELay?

TNaeHER : BRI NRFRIPER T EE

Z 1 :SOURce:POWer:PROTection:DELay?

0 MR [E] : 3.000

3.4 System MEF RS

W SYSTem:SENSe[:STATe] {ON | OFF | 0 | 1}
ThEEHEIAR - R EIMIETR B EN EREET RS

Z 1 SYSTem:SENSe:STATe OFF

ETRO% W SYSTem:SENSe[:STATe]?

ThEEHEIAR - i ERITAE BN SR EREF RS
ol SYSTem:SENSe:STATe?

0 N IR [E] : 1

MR SYSTem:IMONItor[:STATe] {ON | OFF | 0 | 1}
ThaeHIAR - % B BRI IRE FERE RS

o fl: SYSTem:IMONItor:STATe OFF

BN SYSTem: IMONItor [:STATe]?

ThaetEIR Zif) R SRR T E AR RS

Z 11 : SYSTem: IMONItor:STATe?

0 B3R [B] : 1
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R SYSTem:VMONItor[:STATe] {ON | OFF | 0| 1}
INREHIR REBERIRRFEREF RS

z8 1 : SYSTem:VMONItor:STATe OFF

g SYSTem: VMONItor [:STATe]?

INREHIR T B E S Rn FEREF XK

28 1 : SYSTem: VMONItor:STATe?

0 Rz3K ] : 1

B STOP:ON:FAIL[:STATe] {ON | OFF | 0 | 1}
INREHIR REHMIX LK Z2EFFLENE (ON/LAFIE, OFF/0: R ZE1E)
) STOP:ON:FAIL:STATe OFF

[ERE - STOP:ON:FAIL[:STATe]?

INREHIR FFHNIL LMY R EFLEFXEIRES (ON/L:4Z1E, OFF/0:AR{Z1E)
) STOP:ON:FAIL:STATe?

0 A& ] : 0

ETRO% W *TRG

INRERIR MERIES, FE—IRMANEARIZT

= *TRG

wmeE: TRIGger:SOURce {MANUal | EXTernal | BUS}
INRERIR REDHIFENMATR

= TRIGger:SOURce BUS

meE: TRIGger:SOURce?

INRERIR TFHRFIREHER

=R TRIGger:SOURce?

0 Rz [ : MANUAL
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wHER: SENSe:AVERage:COUNt{6|7|8|9]10] 11|12 |13 |14}
INHERIR : REAFIRFONEHFIIRE (UL 2 BUEEHNIREREE)
= SENSe:AVERage:COUNt 10

g SENSe:AVERage:COUNt?

TNHEERIR : BFRAHIREIIEH IR (LL 2 BEHNIREREE)
= SENSe:AVERage:COUNTt?

0 Nz [E] : 9

[ERE - EXT:MODE {INT | EXTI | EXTV}

TNHEERIR : WEABIRENHEER (WERIMER)

# EXT:MODE INT

mtER: EXT:MODE?

TNHEERIR FRAFGFNEER (RWEFHIMER)

# EXT:MODE?

0 Bz 2] : EXTV

gD EXT:IRANGe <value>

I REFE IR REIMPHUHER THBRER

= Bl EXT:IRANGe 5

A8 : EXT:IRANGe?

INaEHIR FifPRIERER THERRERTE 2 4): EXT:IRANGe?
= 30

mOER EXT:VRANGe <value>

INaEHIR REIMBHER THBESER

= EXT:VRANGe 36

SDL1000X 4m#z Ff

53



5 SIGLENT " r8

meiER: EXT:VRANGe?
INREHIR EFHMERIEER THBEESETE
i EXT:VRANGe?

0 A& [E] : 150

BT TIME:TEST[:STATe] {ON | OFF | 0 | 1}
ThEEHEIAR - REREHENENEINRE

B TIME:TEST:STATe OFF

g TIME:TEST[:STATe]?

ThEeHEAR - BRI EH/ERENEIN6E

Z TIME:TEST:STATe?

0 Rz [E] : 0

B TIME:TEST:VOLTage:LOW {< value > | MINimum | MAXimum | DEFault}
ThaeHEIAR - RENENEBERRE

B i : TIME:TEST:VOLTage:LOW 1.000
W TIME:TEST:VOLTage:LOW?

TNaEHIR RN ENEREERE

= TIME:TEST:VOLTage:LOW?

VAR 3.00

R TIME:TEST:VOLTage:HIGH {< value > | MINimum | MAXimum | DEFault}
ThaEHIR - RENENEBESRE

B 1 TIME:TEST:VOLTage: HIGH 10.000

R TIME:TEST:VOLTage:HIGH?

ThaEHIR - BHNENERESRE

TR TIME:TEST:VOLTage: HIGH?

0 Rz [E] : 150.00
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mtER: TIME:TEST:RISE?
THREEIA : FREX_EFH £ 6 8]
Z TIME:TEST:RISE?
0] N AR 2] - 0.020

mEN: TIME:TEST:FALL?
TREREIAR IREU TR = B9 8]
# fl: TIME:TEST: FALL?
g RR ] : 0.030

3.5 LAN Interface S8 F &%

OB : LAN:LINK?

IhaeHIR EHHFBRENORTENBEM (BIEAML)
B LAN:LINK?

0 Sz5R ] - 0 (GF: 0 AKREANEL, 1 AEANEL)
R DHCP {ON | OFF | 0| 1}

ThaesER - R E DHCP FFx RS

& fl: DHCP ON

B DHCP?

ThaesEAR - Eif) DHCP FFRIRS

& fl: DHCP?

0 SR ] - 1

g LAN:IPADdress <aaa.bbb.ccc.ddd>

INgesER : REMO IP #ik A aaa.bbb.ccc.ddd (DHCP %X HRAR)
2l LAN:IPADdress 10.12.15.64

SDL1000X w2 F
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Rt LAN:IPADdress?

ThREREA - SREW O 1P #bik

= LAN:IPADdress?

0 R IR [E] - 10.11.13.76

W LAN:SMASk <aaa.bbb.ccc.ddd>
IngeHA : 1 E M O FMIEEE A aaa.bbb.ccc.ddd (DHCP FF&XHAER)
% LAN: SMASk 255.255.255.255
MR LAN:SMASK?

TREREIA W O F M5

Z fl: LAN: SMASk?

0 Sz5R 2] - 255.255.255.0

W LAN:GATeway <aaa.bbb.ccc.ddd>
ThecHIAR REMOMEH aaa.bbb.ccc.ddd (DHCP FF ¥ HETE2K)
% fl: LAN: GATeway 10.11.13.1
mEER LAN:GATeway?

BT i W PS

ol LAN: GATeway?

0 AR B : 10.12.16.1

MR LAN:MAC?

THREHEA : EWAHIZEN MAC 55

Z LAN:MAC?

08 R IR [E] - 00.80.1.00.00.00

56
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4  wERG

RELHE—EHF, AXEGFPIROIUEZMNEER ni-visa ENAREZ RIERIIGSRIZF
BMNORE, BIRFRETE, RIUARKESHINEENA, XMIFR Visual Studio FFRHITE.

4.1 {EH VISA BmERMI
4.1.1 VC++irfl

1% Windows xp system, Visual Studio
T~PIRE: E ni-visa FHIREH Usbtme TCP / IP A0S, IRUATESBTMRG:
1. #J7F Visual Studio, BIZ—#TEY ve++ win32 I,

REMBIEMER ni-visa fE, AWM GETLMER ni-visa, B#SAXMBAN:
1) ##SH:

£ NI-VISA RERIZEH UL visa.h,visatype.h,visa32.lib, ¥EMNE4Z RORE, #F
BENRMEREYd., £IE.cpp X4, RN THRIT:

#include "visa.h"

#pragma comment(lib,"visa32.lib")

2) BmAH:
RE.h XHEIEER, ni-visa REEEZ, ERINDBK, RIMNRENEER:
C: \Program Files\IVI Foundation\VISAWINNT\include, & & XKERINE—BHE—

C/IC++—BR—MmMEaKE, nE:
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OSEINC _¥riteRead Property Pages

3

Configuration: IJ\CtiVE (Mebug)

LI Platform: IActive (Hin3Z) Configuration Manager. ..

[~

=3 Configuration Properti
General
Debugging
5 CfTH
g General
Optimization
Preprocessor
Code Generation
Language
Precompiled Hea
Output Files
Browse Informat
fdvanced
Command Line
L3 Linker
L1 Browse Information
|21 Build Ewvents
L3 Custom Build Step
L Web Deployment

Additional Include Directorie C:\Program FilesiI¥I Foundation\VISA
Rezolwve #uszing References

Program Database for Edit & Continue
Tez (Fnolego)

Warning Lewel Level 3 (/¥3)

Detect B4-bit Portability Iss Yes (f¥p64)

Ho

Debtug Information Format

Suppress Startup Banner

Treat Warnings A=z Errors

|A
|

Additional IncludeMirectories
Specifies one or more directories to add to the include path; usze semi-

/I [path])

colon delimited li=t if more than one.

wE | o mm | mEw | ®=m |

2.

REFEBFRIRE R

REERRZ: & nivisa RRER, ARNOERK, RINRENBEERE:

C: \Program Files\IVI Foundation\VISAWINNT\LIB\MSC, i&&iX&EFREIIR

wR—EM—WMEER, WAE:

USBTEC_WriteRead Property Pages

Configuration: Il\ctive Debug)

LI Flatform: IActive[‘ﬁ'inSZ:l LI Configuration Manager. .. |

=4 Configuration Properti
GGeneral
Debugzing
3 cicH
{3 Linker
g General
Input
Debugzing
System
Optimization
Embedded IDL
Ahdwanced
Command Line
L1 Browse Information
L1 Build Events
L1 Custom Build Step
[Z3 Web Deployment

Output File $ (0utDir) fUSBTEC_¥riteRead exe

Show Progress

Yersion

Enable Incremental Lirnking
Supprezz Startup Banmer
Tenore Import Library
Register Output

additional Litrary Directorie C:\Frogram Files\I¥I Foundation\¥ISA

Hot Set

Yes (INCRENENTAL)
Ha
Ho
Ho

|A
%

Output File

Override the default output file name.

(/O0UT: [£ile])

TRE

| mw | mEe | mm |
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REENE: project---properties---Linker---Command Line---Additional Options:visa32.lib

Configuration: |Activemebug) ﬂ Flatform: |1\ctive(‘ﬁ'in32) ﬂ Configuration Manager. ..

) Confignration Froperti 411 Options:

Optimization
Embedded IDL
hdvanced

g Command Line Additional Options:

General SOUT: “Debug/USETMC _Hri teRead. exe” /INCREMENTAL /ROLOGO fIEBUG
Debugging SFIE: “Debug/USBTMC_WriteRead pdb” /SUBSYSTEM:COFSOLE /MACHINE: X8R
ZacfcH kernel32. 1ib user32. 1lib gdi32.1ib winspeol.lib comdlg32. 1ib
23 Linker advapid2. 1ib shell3Z. 1ib oledZ. 1ib oleant3Z. 1ib uwuid lib odbedZ. 1ib
oadbeep3Z 1ib
General
Input
Debuzzing
System

[ Browse Information visa3? 1ib
(2] Euild Events

£ Custom FBuild Step
[Z Web Deployment

[
|n

THE HLiH

#Eh

B3E visa.h file:7E XXX.cpp R :

#include <visa.h>

3.

1)

FEANACES -

USBTMC ZE{LES:: E— Usbtmc_test ER%],

int Usbtmc_test()

{
/*

/*
/*
/*

/*

XA ER TR NI-VISA KXEHERANBEANGSE *
— USB i & M E 2 (USBTMC){E8 . */

XA FE IDN 2\ n "FRBEIEEEIRAH USBTMC  */
REFZEEAHEIERIEELER, ¥

RBN—RRERITARREE:S */

SDL1000X 4w F

59



5 SIGLENT " r8

/*

/*

/*

TFF VISA 1R FNEE */

£ ViPrintf S{{/REEN

233X B8 viScanf 1B — M i

% VISA £3F+/

/******************************************************

*exxx[ ViSession defaultRM;

*/

*/

ViSession instr; ViUInt32 numlinstrs; ViFindList findList; ViUInt32 retCount; ViUInt32

writeCount; ViStatus status;
char instrResourceString[VI_FIND_BUFLEN];

unsigned char buffer[100];

char stringinput[512];

inti;

* B4, BATWFUER viopenDefaultRM 52| SR MG,

I* BAVEBE defaultRM FHELLLFAR,

status=viOpenDefaultRM (&defaultRM);
if (status < VI_SUCCESS)

{

}

* SEBINNERZDFRBER USB TMC VISA &R

I* REBERNHBEFMEERSDPH numinstrs B,

status = viFindRsrc (defaultRM, "USB?*INSTR", &findList, &nhuminstrs,

*/

*

printf ("Could not open a session to the VISA Resource Manager'\n");

return status;

instrResourceString);

if (status < VI_SUCCESS)

{

*/

*/

printf ("An error occurred while finding resources.\nHit enter to continue.");

fflush(stdin);
getchar();
viClose (defaultRM);

60

SDL1000X 4m72 F it



5 SIGLENT " 5B

return status;

}
IIE, BATEXN R USB TMC {XS83TFF VISA £3F., B 1WA

* M viOpenDefaultRM {ER 1%, o RfER—NFHRIERE
STHENES, XHMEFMBNNERRR, ZFRBHEXTIUEN
“BEERPAREESHHERTRE, TR RERRER, B
RBE—MUBRERNTOR, EZEER VISA TRt AR, FX
*PMEREEY AccessMode FIEBII SR AERNINEME, XHINS
*HARLAF1E VI_NULL, */

for (i=0; i<numlinstrs; i++)
{
if (i > 0)
viFindNext (findList, instrResourceString);
status = viOpen (defaultRM, instrResourceString, VI_NULL, VI_NULL, &instr);
if (status < VI_SUCCESS)

printf ("Cannot open a session to the device %d.\n", i+1);

continue;

}
FEX—RLE, BINMEE—NSIEITHE USB TMC X35, TTE,

*WAVEEERA viPrintf REULEZRF B IDNANEEE, EXIZEIRG,

*/

char * cmmand ="*IDN?\n";
status = viPrintf  (instr, cmmand);
if (status < VI_SUCCESS)
{
printf ("Error writing to the device %d.\n", i+1);

status = viClose (instr);
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continue;

}
M REFAMBZZNREZE—MREEREBNIMA, F1E

*EA viScanf REKIRENEIE., AHERILLE, WAEREE ¥/

status = viScanf(instr, "%t", buffer);
if (status < VI_SUCCESS)

printf ("Error reading a response from the device %d.\n", i+1);
else

printf ("\nDevice %d:%*s\n", i+1,retCount, buffer);

status = viClose (instr);

}
HTE, BIATBXASIEMER viClose {488, WRIEBRBEIERAER,

status = viClose (defaultRM);

return O;

}

2) TCP/IP access code:

Write a function TCP_IP_Test.
int TCP_IP_Test(char *plP)

{
char outputBuffer[VI_FIND_BUFLEN];
ViSession defaultRM, instr;
ViStatus status;
ViUInt32 count;
ViUInt16 portNo;

rFEg, BNFRTARANNRREERS. Y

status = viOpenDefaultRM (&defaultRM);
if (status < VI_SUCCESS)

{

*/

62
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printf("Could not open a session to the VISA Resource Manager'\n");

}
FELTE, BAVEESE TCP /P ®REITH—NE1E
char head[256] ="TCPIPO::";
char tail[] ="::INSTR"; char resource [256]; strcat(head,plP); strcat(head,tail);
status = viOpen (defaultRM, head, VI_LOAD_CONFIG, VI_NULL, &instr);
if (status < VI_SUCCESS)
{
printf ("An error occurred opening the session\n®);
viClose(defaultRM);
}
status = viPrintf(instr, "*idn?\n");
status = viScanf(instr, "%t", outputBuffer);
if (status < VI_SUCCESS)
{
printf("viRead failed with error code: %x \n",status);
viClose(defaultRM);
lelse
printf ("\ndata read from device: %*s\n", 0,outputBuffer);
status = viClose (instr);
status = viClose (defaultRM);

return O;

4.1.2 VB =8l
IFiE: Windows 7, Microsoft Visual Basic 6.0
REIRE: {EH NI-VISA, & USBTMC #1 TCP/ IP ih 0z 418 & E B ANFEE,

RRSBTHEIEF
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1.

2.

$TFF Visual Basic, BZi—MuERNNBREFIE (F0E EXE)

REMBNHEDER NI-VISA E, BETENMERES>>HNMNER, 2 visa32.bas th

NI-VISA ZZE812 T8 include X324, FHiRmmsus,

Add Nodule

New Existing |

&v‘pptypt bas

Files of type: IBAsic Files (* bas) LJ

Look in: Id include _'_l & B ¥ -

File name:  |visa32. bas Open (@)

Cancel

Help (H)

i

RIX]

[7 Don’t show this dialog in the future

X{E1F VISA ThEER] VISA BUEIR R BIERFDER,

3.

IS :

(L)USBTMC FEULH:

E Usbtmc_test B#].

Private Function Usbtmc_test() As Long

XERBETRTER NI-VISA RERBHZBRMEAGLE

—/N USB Mt &M =2 (USBTMC)XEE.

XM FE“ IDN 2\ n "2 R B A EZEBIRSH USBTMC

REFIEEREEREERLER,
REBN—BRERITHARRESE:S
FTFF VISA £1FE{YEE

£ viPrintf SRS &

64
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233X B8 viScanf 1B —MiE i

' XM VISA £1F

Const MAX_CNT =200

Dim defaultRM As Long Dim instrsesn As Long Dim numlnstrs As Long

Dim findList As Long Dim retCount As Long Dim writeCount As Long Dim status As Long

Dim instrResourceString As String * VI_FIND_BUFLEN Dim buffer As String *
MAX_CNT

Dim i As Integer

"B, BAIUEA viopenDefaultRM 1521 SRS GIHE,

' BAMETE defaultRM FHELLLFAR,

status = viOpenDefaultRM(defaultRM)

If (status < VI_SUCCESS) Then
Debug.Print "Could not open a session to the VISA Resource Manager!”
Usbtmc_test = status
Exit Function

End If

'SERENNRSZRRED USB TMC VISA BiR

'HARRRRBENHBFHEERZDPH numinstrs &,

status = viFindRsrc(defaultRM, "USB?*INSTR", findList, numinstrs, instrResourceString)
If (status < VI_SUCCESS) Then
Debug.Print "An error occurred while finding resources.” viClose (defaultRM)
Usbtmc_test = status
Exit Function

End If

"H7E, BATEXIFE USB TMC X837 VISA =1iE., MR
' M viOpenDefaultRM AR, HMHAFAER—NFEHEERE

ITFENES, RREPTBANERIERRN . ZF A BEHEA T ED
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EERTERETSRERTRE ., TR 2EIRER, B

'RIFE—MUEREANGR, EZEER VISA IRNAE, X

"NEEHY AccessMode FIRBRSHENERNNEEME ., XHW IS
" LR F1E VI_NULL,

For i =0 To numinstrs

If (i>0) Then
status = viFindNext(findList, instrResourceString)

End If
status = viOpen(defaultRM, instrResourceString, VI_NULL, VI_NULL, instrsesn)

If (status < VI_SUCCESS) Then
Debug.Print "Cannot open a session to the device ", i + 1

GoTo NextFind

End If

EX—RLE, BNMEE—1S1EITHE USB TMC {428, IE,
BE*IDNANENRE, EXIZREFIRH,

" BATE(ER viPrintf REBURIEZRF

status = viWrite(instrsesn, "*IDN?", 5, retCount)

If (status < VI_SUCCESS) Then
Debug.Print "Error writing to the device."

status = viClose(instrsesn)
GoTo NextFind

End If
SEWmLN, 11

'RAERMNBEEAMREZE—MREER
' viScanf ERECKIREVEHE, EHERITLE, WAERER
status = viRead(instrsesn, buffer, MAX_CNT, retCount) If (status < VI_SUCCESS)

Then
Debug.Print "Error reading a response from the device.", i + 1 Else

Debug.Printi + 1, retCount, buffer
SDL1000X 472 F
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End If
status = viClose(instrsesn)
NextFind:

Next i

"HIE, HAVEXEARIEEH viClose X88. LWRIERBIBRARE.

status = viClose(defaultRM)
Usbtmc _test=0

End Function

(2)TCP/IP access code:

Write a function TCP_IP_Test.

Private Function TCP_IP_Test(ip As String) As Long
Dim outputBuffer As String * VI_FIND_BUFLEN
Dim defaultRM As Long
Dim instrsesn As Long
Dim status As Long

Dim count As Long

"B, RNBETARANZREES.

status = viOpenDefaultRM (defaultRM)

If (status < VI_SUCCESS) Then
Debug.Print "Could not open a session to the VISA Resource Manager!"
TCP_IP_Test = status
Exit Function

End If

"HE, BAVBEN TCP/IP REHTHF—ISIE

status = viOpen(defaultRM, "TCPIPO::" + ip + ":IINSTR", VI_LOAD_CONFIG, VI_NULL,
instrsesn)

If (status < VI_SUCCESS) Then

Debug.Print "An error occurred opening the session” viClose (defaultRM)
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TCP_IP_Test = status
Exit Function

End If

status = viWrite(instrsesn, "*IDN?", 5, count)
If (status < VI_SUCCESS) Then
Debug.Print "Error writing to the device.”
End If
status = viRead(instrsesn, outputBuffer, VI_FIND_BUFLEN, count)
If (status < VI_SUCCESS) Then
Debug.Print "Error reading a response from the device.", i + 1
Else
Debug.Print "read from device:", outputBuffer
End If
status = viClose(instrsesn)
status = viClose(defaultRM)
TCP_IP _Test=0

End Function

4.1.3 MATLAB xRl

IR : windows 7, MATLAB R2010b

REIARZA: {EA NI-VISA, &id USBTMC 1 TCP/ IP if 012418 % =5 AFIiLEL,

&

1)

RS BRS A EIEF
TF MATLAB, BXHAIER. EARETRT, BHAIERERH
D: \USBTMC_TCPIP_Demo,
BENXE>>FESSHIA (File>>New>>Script) 7£ Matlab REREIZE—NZ 89 M X4
AYIIARER
USBTMC 7FBUH:

68
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B A\ Usbtmc_test %,

function USBTMC_test()

% XERMEBIER TR NI-VISA KIZRSZBFEANGLE
% —> USB MiX &N &2 (USBTMC){X &R,

% B — VISA-USB X R &S] USB X £

vu = visa('ni','USBO0::0xF4EC::0x1600::0123456789::INSTR");
% FTFEIRE VISA R

fopen(vu);

% RIXFFFE IDN? 7, BFREER.

fprintf(vu,”*IDN?");

% 1B KEHE

outputbuffer = fscanf(vu);

disp(outputbuffer);
% %A VISA 35

fclose(vu);
delete(vu);

clear vu;

end

2) TCP/IP B3

EAN TCP_IP_Test BR#,

function TCP_IP_test( IPstr)

% XEREBERTER NI-VISA KERHERMEANGLE

% — TCP/IP {358,

%BIE—" VISA-TCPIP MNRIEZFIRE T IP Hltav{X s,
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vt = visa('ni',[' TCPIPO::',IPstr,"::INSTR'));

% FTFFEIERT VISA R

fopen(vt);

%R IEFHFE"*IDN?", TERZEE

fprintf(vt,”*IDN?");

% 1EKEIE
outputbuffer = fscanf(vt);

disp(outputbuffer);

% %M VISA X5

fclose(vt);
delete(vt);

clear vt;

end

4.1.4 LabVIEW x4

4% : windows 7 system, LabVIEW2011

TEIRZE: EH NI-VISA, @i USBTMC F1 TCP/IP ihiaiE4ig &£ 5 AFIEE,

BRSBTHEIEF:

1. 3TFF LabVIEW, GIE VI XXt

2. AmEt, ARELTIERED, EFEHMA VISA BREIR, HRAA, HRAUUR

EHE—EER

3. THEEENO. & VISA BRBMBTERER, TN VISA BERR BB PikE

70
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AIVATINGE: VISAE, VISAE, VISA $TH#I VISA X,

4. BEEEEXR, NTEFRR:

Read buffer
] —
Return count

VISA resource name —- PDEL ||
=] A A e

h abe—y et = ;

WwE R c A,
error in (no erdor)
: error out

A

5. M VISA BREMRIIREPERFRERFARETER.

USEO: :0xF4EC: (01800 (0123456759  THSTE

Siglent Technologies, SILIDZ0X, 0123456759, 1.01.01. 15

EXNMEFD, VI FTH— VISA £iF% USBTMC &%, BA— 1 HdE8E, KRBT
EHMmE, kHd, KXNEENGSRIRE ID &, BS5ENRSHIERRTIRSHIE,
EREENRRG, VI %XH VISA &iF,

6. BT TCP/IP 5UAMNEEESEEMTF USBTMC B, EE, REEKZE VISA A
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VISA iEEUINEEEREH 1/0, LabVIEW HEGABERESH 110, ARBERZT R, AENR
BB hEEES /0 HER>>FEH KBNS IERESEIE.

7. BEERER, MTEAR:

Read buffer

Return count
.'s.a.:; :.'hsliq _ﬁ "'"-i%\
kad CIE| R c \z

error in (no error) § error out

8. A IP MU ARFIETER.

10.11.13. 239

Siglent Technologies, SILI0Z20X, 0123456739, 1.01.01. 15

72 SDL1000X %72 F



BXZR A1)

RYIT R AR RN ERA T
LE%HIRSHL: 400-878-0807
Mtk : www.siglent.com

=B

U SIGLENT i 2 i1 77 5 HRHR R B IR
ATEEMEIR, BEREIREF, REBLUMEM
FRAREIEAAREFIAFRPEETHSE,
AERPHNEERBREHMATFFEREA, BA
HIRNMBELE, BABITES,

BAFD]

X FAXE RN EENIRY, RESEIF
UNERTA2RME, FEREREFI#HT
ERmEH,

S SIGLENT P

XTHM

AR (SIGLENT) 2EABFNRXNEMFRENTURERY, B,
tREARFIENENETIE—RARLEHAE,

2002 F, BERRIIBATFRETTRIKEMEA, 2005 FERINFHHIHE—R
HFRER, FESFRE, BHFRETRIMFZ KSR, FRHRER. B
/IR RES. MESRN. RENEDTN. FHU/MEESE. &t
FR%. BERERE. BFAESEMNXNEMNETR, 2LWRROHEBRE
WNHE. &7, HEHF TS, ESRES. MESTIFIIEENEI N
MAEABFURVENBENFTRN RZ—, BRRER "/NEA" &
Y, BNtEEEREERSNFPROMENBEINAEATRFEMAE
NESREHBATHARNT R, AARBUTRY, EXERMX=NEER
RIEBRERILT FAT, ERBRILTHATE, FRIZHEIK 80 SMERMM
X, SIGLENT EZ&p AL IRHE KM EUEE R




	1 编程概述
	1.1 搭建编程环境
	1.1.1 使用 VISA 的编程环境
	1.1.1.1 安装  NI-VISA
	1.1.1.2 连接设备


	1.2 如何远程控制
	1.2.1 用户自定义编程
	1.2.2 通过 NI-MAX 发送 SCPI 命令


	2 SCPI 简介
	2.1 命令格式
	2.2 符号说明
	2.3 参数类型
	2.4 命令缩写
	2.5 特别说明

	3 命令系统
	3.1 IEEE 公用命令子系统
	3.2 Measure 命令子系统
	3.3 Source 命令子系统
	3.3.1 Source 共用命令子系统
	3.3.2 Source Current 命令子系统
	3.3.3 Source Voltage 命令子系统
	3.3.4 Source Power 命令子系统
	3.3.5 Source Resistance 命令子系统
	3.3.6 Source LED 命令子系统
	3.3.7 Source Battery 命令子系统
	3.3.8 Source List 命令子系统
	3.3.9 Source OCPT 命令子系统
	3.3.10 Source OPPT 命令子系统
	3.3.11 Source Program 命令子系统
	3.3.12 Source Wave 命令子系统
	3.3.13 Source Utility 命令子系统

	3.4 System 命令子系统
	3.5 LAN Interface 命令子系统

	4 编程示例
	4.1 使用 VISA 的编程示例
	4.1.1 VC++示例
	4.1.2 VB 示例
	4.1.3 MATLAB 示例
	4.1.4 LabVIEW 示例



